Material moved along Coastline changes
beach in 2ig-zag way direction

Backwash - When the water runs back down the beach, pulled by gravity.

Deposition - Occurs when material being transported by the sea is dropped due to the sea Direction of longshore drift =—p
losing energy.

Erosion -When the coast is worn away and moved elsewhere by gravity or another moving
force - wind, water or ice

Fetch - How far a wave has travelled. A long fetch results in bigger waves.
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Stack - An isolated pillar of rock left when the top of an arch has collapsed. g \

atan angle Material deposited
Swash - When a wave breaks, water is washed up the beach. Al =
Transportation - The movement of eroded material. The prevailing wind blows waves carrying sediment into the beach at an angle, the waves break on the shore and as the

water runs back into the sea it carries the sediment back down the beach, perpendicular to the angle of the shoreline

The UK’s coastline is 7,723 miles long. The under the influence of gravity. This results in a zigzag motion as sediment is transported along the coastline.

coastline along Holderness in East Yorkshire is Longshore drift can form spits where longshore drift is happening and the line of the coast changes sharply, for
one of the fastest eroding coastlines in Europe example at a river estuary. Spits are also created by deposition. A spit is an extended stretch of beach material that
Headlands are \ . \\ with an average of 1.5 metres lost each year! projects out to sea and is joir.1ed to the mainland at one end. An example of a spit is Spurn Head, found along the
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Command Words

Interpret Ascribe meaning.
Evaluate Look at the information in the question and bring it together to make a decision and come to a conclusion with evidence from the question. You may be asked to give a personal response.

Define State or describe exactly the nature, scope, or meaning of something / establish the character of something; mark out the boundary or limits of something

n Summarise Give a brief statement of the main points of something.

n Suggest Used with another command word, e.g. Suggest an explanation. Suggest tells you that you need to apply your knowledge to a new situation, and in this case to give a possible explanation
n Which Asking for information specifying one or more people or things from a definite set.

E Why Giving a reason or explanation to support the answer of the question.



